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U.G. 6th Semester Examination - 2021 f)  Define the growth rate of GDP. How is it
ECONOMICS measured?
[PROGRAMME] o] Serg e SeAMCS e Rt e e | el
Generic Elective(GE) g ~|fsnel a1 27 2
Course Code : ECO-G-GE-T-2

g) Explain the term "transfer payments" with two

Full Marks : 60 Time : 25 Hours suitable examples.
The figures in the right-hand margin indicate marks. ToRE 7 Tuizgel 2 TG S A 4 |
Candidates are required to give their answers in h)  Show that MPC+MPS=1

their own words as far as practicable. @6 & MPC+-MPS=1

i)  What is open inflation?
1.  Answer any ten questions from the following:
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formfoiiie el N @-FeT vl ere Sed e ¢ j)  What do you mean by galloping inflation?
a) What do you mean by 'Closed' and 'Open' e R e f e

economy? k)  What is 'Balanced Budget Multiplier'?
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b) How is GDP different from GNP? 1)  Write two causes of inflation.

o TSR SAH (R ZoT STST@e! SAMGT ez e wora it Pl @1 |

s A 2 m) Define broad money and narrow money.
c) Define personal income and per-capita income. o o1g @ RN Sq A TG |

e W= ¢ w2ifaAg S sk wie | n)  What is stagflation?
d) Define final goods and intermediary goods. fobeTOPSRIRe I 4051 2
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o)  What is implied by the assumption 0 < i—c <1?
Y
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2. Answer any four questions: 5%x4=20
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b)
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Write a short note on 'Paradox of thrift'.
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1)  If C=300+0.8Y and 1=700, what is the

value of equilibrium Y. 2
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11) How is the expression of the Keynesian

investment multiplier related to the value

of MPC? 2
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1) If MPC=0.8, what is the value of
investment multiplier? 1
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What are social costs of inflation?
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3.  Answer any two questions:

What are the functions of money? What do you

mean by 'demand pull' and cost-push inflation?
23+25
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What do you mean by 'IS Curve' and 'LM curve'?

How can you determine equilibrium level of

income and rate of interest by using IS-LM
curves? 2+3
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What are the methods of calculating National
Income of a country? In this context discuss the

concept of value-added method. 2+3
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1)  Evaluate GNP as a welfare measure. 6
A TP A GNP-G SR A |

i1)  Discuss briefly the problems in estimating

national income. 4
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b)

d)
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Using the simple Keynesian model show the

impact of:
1)  an increase in government purchases
i1) an increase in the lumpsum tax.

111) an equal increase in lumpsum tax and

government expenditures.
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What do you mean by injections and leakages

in circular flow of income? Explain with
diagram the concept of circular flow of in

income in a closed economy. 3+7=10
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1)  What is inflationary gap? Explain an
inflationary gap with diagram. 4
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ii)

Discuss different methods to control
inflation. 6
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